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Question Number : 1 Question Id : 91394320923 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of the following indicates the concept of Zone of Proximal Development (ZPD) as
suggested by psychologist Lev Vygotsky ?

Options :
SRR A learner’s brain develops faster in childhood.



- Il-| . = 1- Ir . .LN I--| ] I'- - . -1 I.-|.
SR A learner learns effectively when it is supported with real life examples

What a learner can do with help and without help.
91394282203,

51394330004 Lriends interaction is very important for proper development of child.
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Question Number : 2 Question Id : 91394320924 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which among the following is the correct set of four fundamental principles of Rabindranath
Tagore’s educational philosophy ?

Options :

S Humanism, Commercialisation, Urbanisation, Hinduism

T —— Naturalism, Humanism, Internationalism, [dealism

01594555207 Globalisation, Localisation, Transformation, Capitalism

Socialism, Spiritualism, Tourism, Commercialism
91394382208,

Question Number : 2 Question Id : 91394320924 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :



91334582205

91334582206

AT, T, TR, Ysiarg

91334382207
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91334282208

Question Number : 3 Question Id : 91394320925 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The field of study of the theory and practice of self-determined learning that focuses on the

importance of knowing how to learn is known as :

Options :
Epistemoloey

913942382209, E g‘y

i AT OOV
91394382210 Andragogy

Pedacoevy
91394382211, dgogy

Heutagoey
91394382212, 508
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Correct Marks : 2 Wrong Marks : 0
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Options :

B1394552209.

TG ITeq Jomet

91334582210.

91334582211, ﬁ?’ A2

91394382212, HATeH - ST

Question Number : 4 Question Id : 91394320926 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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The construction of thought process, which includes remembering, problem solving and
decision making, is called as :
Options :

Andracoey
91394382213, 508Y

Yy rim
’sychology
91394382214, Psychology

Pedagoovy
91394382215, “5Y 6.

Cognitive development
91394382216
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Options :

913043500135, GOSN (HTETR1ET JUIET )
51394585214, TSR

v (foreeme)

91334582215,

a1z94zg001g, SATICHS [Fonid

Question Number : 5 Question Id : 91394320927 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The field of study dealing with methods and principles used in adult education is known
as :

Options :

J i F
ST 1 edagogy

AT OOV
91394382218, Andragogy

Anthropoloev
91394382219, POIOgy

91394382200, OETONtOlOGY
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Options :
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215394252215,

91334582219.
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2153942582220,

Question Number : 6 Question Id : 91394320928 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The four approaches to knowing answers to research questions, according to Kerlinger,
are :

a) Method of tenacity

b) Method of intuition
c) Method of authority
d)

e) Method of creativity

Method of science

— — — — — —

f)  Method of non-functionality
Code :
Options :

(c) and (d)

2153394282221, (El), (h)’

(b), (¢), (d) and (e)

91334582222,

(b), (d), (e) and (f)

91334582223,

91394382224 (c), (d), (e) and (f)
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Correct Marks : 2 Wrong Marks : 0
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913345382221,

(b), (¢), (d) 3R (e)

215394282222,

(b), (d), (e) 3 (f)

91334582223,

a1394382024, () (), (€) S (f)

Question Number : 7 Question Id : 91394320929 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
One way to measure the extent to which a measure is free of random error is to compute
its :

Options :

Sissassssse -onient validity

Experimenter’s bias
91394382226

Test-retest reliability
91394382227, :

SRS Demand characteristics
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Correct Marks : 2 Wrong Marks : 0
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Question Number : 8 Question Id : 91394320930 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Qualitative researchers criticise quantitative research for its tendency towards :

Options :
e LS - .
N Emphasis on evidence
Focus on empiricism
91394382230,

91394330031 Reductionism

ST Obsession with creativity

Question Number : 8 Question Id : 91394320930 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
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Question Number : 9 Question Id : 91394320931 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0
Which method is appropriate to reduce random error ?

Options :

91394382233 Select large sample size

01394389534 Administer the test after a gap of one week

Spu e Administer the treatment in the same way every time

15043800z Lrdminister manipulation checks

Question Number : 9 Question Id : 91394320931 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks : 2 Wrong Marks : 0
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Question Number : 10 Question Id : 91394320932 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In relation to code of conduct in research, what does APA stand for ?
Options :

A Advanced Psychological Authority

American Psvcholoeical Association
91394382238, g At ey

Australian Psvcholoeical Association
91394382239, N LSS A S

Association of Psvcholoeical Assessments
91394382240, e ¥ IS s N :

Question Number : 10 Question Id : 91394320932 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0
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Sub-Section Number: 2
Sub-Section Id: 9139431104
Question Shuffling Allowed : Yes

Question Id : 91394320933 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (11 to 15)
Juestion Label : Comprehension

Read the following passage carefully and answer questions 11 to 15.

For all the disagreement in the industry about the future of aviation, there is perfect accord
on one point : There is going to be a lot more of it. The world’s air passengers flew a combined 7.64
trillion kilometers in 2017. By 2037, that will rise to 18.97 trillion kilometers, with about 40% of the
increase happening within five intra-regional markets : China, India, North-America, Europe and
South-east Asia. That is sparking a battle over the biggest bottleneck holding back this growth :
airports. The governments that still own many of them should be more open to privatisation to
cover a $ 78 billion funding gap in needed capital investments. Airlines, airports’ biggest customers,
see things differently. Costs at privatised terminals are higher and governments should be cautious
about such actions in the interests of expanding the aviation sector as a whole. Privatising an
airport does not necessarily make it more efficient. A study has found there was little difference
between the performance of airports 100% owned by commercially-oriented government
corporations and those majority controlled by private businesses. The key is instead to avoid
structures where the incentives for managers are confused or misaligned, such as where private
companies are brought in as minority investors or where managers are essentially bureaucrats
swayed by political imperatives. There is a better solution out there but it is not I_lLelv to be very
attractive to incumbent airlines, airports, or passengers enamoured of the current generation of
gleaming terminals : build more, cheaper airports.

Sub questions

Question Number : 11 Question Id : 91394320934 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
What is the growth rate in aviation apart from the five intra-regional markets ?

Options :



91394385541 10 percent

"} -
91334582242, 20 pE‘I’LEﬂt

L | »
o1304382243, OV percent

4() percent
91394382244,

Question Number : 12 Question Id : 91394320935 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Why should the governments be open to privatisation of airports ?
Options :

i L-| T 1’ Ir T : 1’ l‘
e Because they own many airports

Because there is a battle for growth
91394382246

For necessary ::apita[
91394382247, :

91594385545 ['o Iimit the government control of aviation mdustr}r

Question Number : 13 Question Id : 91394320936 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
How do airlines see the move for privatisation of airports ?

(a) Feel that costs are high

(b) Governments should be cautious

(c) Interest of the aviation sector is important
(d) It decentralises the authority to control
Code :

Options :

(a), (b) and (c)

91334582249,

(b), (c) and (d)

B1384582250.

(c), (d) and (a)

91334582251,



(d), (a) and (b)

91334582252,

Question Number : 14 Question Id : 91394320937 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
What is the key for making airports function efficiently ?

Options :

i - . - . . 1! - - I--u l-- - 1! k= T I--u -., l--
a15043m00cy  Make private companies as minority shareholders

2 1 1o 1 p - 1 . - 5
) L s to .
a15043mmec, L TOVIde misaligned incentives to managers

cognise political imp ives of bureaucrats appoi S rers.
a15045m00ss ECOgNIse political imperatives of bureaucrats appointed as managers

Avoid structures of confused incentives to managers.
91394382256

Question Number : 15 Question Id : 91394320938 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

...Q

Which of the following is the focal inference of the author in the passage

Options :

Private ownership of airports does not mean efficient manacement.
91394382257, € ' : - ' ' € S e

o15943500cg Growth of the aviation industry is distorted.

Airports are not an obstacle to the growth of aviation industry.
91394382259, E* ¢ el S : O e IR RN y

Government-owned airports are known for high performance.
913943822860,

Question Id : 91394320933 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (11 to 15)
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Correct Marks : 2 Wrong Marks : 0
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Correct Marks : 2 Wrong Marks :
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Correct Marks : 2 Wrong Marks : 0
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2153394282252,
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Correct Marks : 2 Wrong Marks : 0
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Question Number : 16 Question Id : 91394320939 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Signs are considered as secondary products of :
Options :

) P
91394382261, 1IESSAZE

S Channelisation

Semantic accura cy
91334582263, "

91294380264, Infotainment
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Correct Marks : 2 Wrong Marks : 0
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a9l &
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ﬁ r
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The relational approach in classroom communication comes from :
Options :
1304382065 INIra-personal communication

Inter-personal communication
91394382266,

130435006, OTganisational communication

™, Mass communication
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Correct Marks : 2 Wrong Marks : 0
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Correct Marks : 2 Wrong Marks : 0
Classroom speech is considered as a :

Options :
91394330069, 1 echnical medium

91394382270, INOoNn-technical medium



91394380071 Mass medium

reanis '
15043007, UNOrganised medium
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91394382269, AP 1IRl HIIH
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Correct Marks : 2 Wrong Marks : 0
In a classroom, communication becomes effective when participants are :
( Active

( Empathetic
(c) Heterophilous
(d) Homophilous
(

(

e) Silent
f)  Uncritical
Code :
Options :

91394382273, (a), (b), (c) and (d)

STusIsRE (b), (c) (d) and (e)

(a), (b), and (d)

B1334582275.

91394382276 (c), (e) and (f)
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B1334582273.

(b), (©), (d) 3T (e)

B1334582274.

91334582275,

H1334582276.

Question Number : 20 Question Id : 91394320943 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The information seeking strategies of students are :

(a) Entropy-oriented
(b) Overt
(c) Non-functional
(d) Indirect

(e)  Third party

(

fy  Testing

Options :

T2 LR L



91394382278, (b), (), () and ()
Spussemisn (b), (d), (e) and (f)

91394382280, (), (b), (c) and (f)
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Options :

(a), (b), (d) 3R (e)

91334582277,
913345382278,

91334582279,
91334582280,
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Correct Marks : 2 Wrong Marks : 0
If DIVE 1s coded as IMYG, then the code for TAKE will be :

Options :
91394382281, AL MG



91334582282, YENG

H1394582283. TEMG

91334582254, XENG
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gfg DIVE &1 IMYG % &9 H Feag fHan Sra € @ TAKE &1 2 21 :
Options :

91394382281, XEMG

91334582282, YENG

TFEFMG
91394382283,

91334582254, XENG

Question Number : 22 Question Id : 91394320945 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The next term in the series is :
56, 40, 27, 17, 10,

Options :

B1334582285. 6
B13345822586. 7

H1334582287.

2153394282288, >

Question Number : 22 Question Id : 91394320945 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
TH @l &l QU HIT
b 4. 2is 17, 1,

Options :




91334582285, 6
913345822586, 7

B1334582257. 8

o

91334582288,

Question Number : 23 Question Id : 91394320946 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The next term in the letter series is ;
ME, KH, IK, GN, i5 :

Options :

H1334582289. hQ
91334582230, CK

a1394382291. bD

91394382292, DF

Question Number : 23 Question Id : 91394320946 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
U @Al hl G HiTST :
ME, KH, IK, GN,

Options :

91334582259, LQ

913345382230, CK

21594252291, BD

91394380292 DT

Question Number : 24 Question Id : 91394320947 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Choose the word which is different from the rest.
Options :
91394382293, L}'E“’

91394382094 1NOSE

Legﬁ.
91394382295,

91394382296, Hands

Question Number : 24 Question Id : 91394320947 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
frefafigd § 9 90 vsg g :

Options :

el

H1334582293. iC

91394382294, D
91394350205 UX
B

153394282256

Question Number : 25 Question Id : 91394320948 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Ram said, “I am the only child of my mother”. Next he pointed to a boy and continued,
“This boy is the husband of the grandchild of my mother”.

How is Ram related to the boy ?
Options :

SissisEresy Dathes

51394389998 Grandfather

91394382099, Brother-in-law

o13043m0300, Father-in-law

Question Number : 25 Question Id : 91394320948 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0
W e, ' H STO] T T STheT STeTeh § | S5 A8 39 U oS ohi SIS HLd gU e, I8
dAeH T A F i F ufa g1’

9 F1 39 A2F H T G T2
Options :

91334582287, I Il

B1394582298. =

AT

215394282299

91394382300, hlel—g—dl

Question Number : 26 Question Id : 91394320949 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Given below are two premises (a) and (b).

Four conclusions are drawn from them. Select the code that states validly drawn conclusion(s)
[taking the premises individually or jointly].
Premises : (a) Some women are teachers.

(b) All teachers are hard-working.

Conclusions :

=
L

All hard-working people are teachers.

(i
(i)  All teachers are not women.
(iii) Some hard-working teachers are women.
(iv) Some women are hard-working.
Code :
Options :
s1394380301 (1) and (ii)
(ii) and (iii)
91334582202,
(1) and (iv)
2153342823035,
(iii) and (iv)
913345852204,

Question Number : 26 Question Id : 91394320949 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



== <1 SER-aE fTw T € (a) 3R (b) |

0 H IR Fehd 3qgd fore e €| 39 Fe 1 gie 5 e (1) § Sfaa w9 1 seer foa @
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WMUT AT :  (a) TP Hfead faem 2|

(b) |t forersh Hedl €1

e (i) =t T A e 2
(i) 9t forerss Afgad 72 € |
(iii) FS HeAd e afeard €1
(iv) TS Afgemd Tadl ¢ |

e

Options :

91394382301 (1) Sl (i)

91294282202, (“') a:‘n-{ (LL[)

91294282203, ([) a:‘ﬂ-{ (l‘v")

91394382304, (i) 3R (iv)

Question Number : 27 Question Id : 91394320950 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
In which of the following arguments the conclusion can be no more than probable ?

Options :

91394382305, Implicative

s1394380306 {2Nalogical

91394382307, Deductive

51394380305 Lemonstrative

Question Number : 27 Question Id : 91394320950 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

freferfiaa § 9 frg a4 frerd Hurea 9 stfusr =@ 21 el €72

Options :



2915334282305, i

91334582206,

913345382307, IRl

PEIEIRIED
Q1 294282208,

Question Number : 28 Question Id : 91394320951 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
“To slow a beast, yvou break its limbs.

T'o slow a nation, you break its people.”
- Identify the argument involved in the above :

Options :
91394382300, 1Nductive

sissasessyy Deductive

Analoeical
91394382311, L - o

41394382312, Demonstrative

Question Number : 28 Question Id : 91394320951 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
ot et 9y 1 Tfd AfEH F & AU 2119 39F 3 F dred € |
TRl T2 T AT Ak o foAT 39 a@l o @l § S0 Scad Sed g1

3T | Hiwfed qeh ge=n
Options :

HATHATHR
91394382309, ¢

91394382510, 11 HTICHS

mf
215394252511,



9153394282312, AGIIH D

Question Number : 29 Question Id : 91394320952 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
“The relation that exists between Premises and Conclusion is that of logical necessity” - is the
case with which of the following arguments ?

Options :

91394382313, Inductive

91394382314 Deductive

9139438031 Lemonstrative

913945832516, Analogical

Question Number : 29 Question Id : 91394320952 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
“ amuRaT IR ey & AT faemm Sey aifshe Tavasdl © - 98 AHen fefafed | 9 f59 @k
HEae?

Options :

91394382313, SITHICHEh

{

91394382314, 1 HIHh

91394382315, A@XITICHN

91334582216, H|%?ﬂ|i’“{°h

Question Number : 30 Question Id : 91394320953 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Among the following statements, two are contradictory to each other. Select the code that
represents them.

Statements : (a) All surgeons are doctors.
(b) Some surgeons are doctors.
(c) Some surgeons are not doctors.
(d) No surgeons are doctors.

Code :

Options :



and (b)

9139438231?.(3)

and (d)

2915339428231 8. (ﬂ)

(b) and (d)

B13945822149.

(b) and (c)

913345822320,

Question Number : 30 Question Id : 91394320953 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

freafafad wemi § < 9 Th g & TR foliedt €1 2= fefua 3 aren $2 9
HAA : a) Ot yeafafras fafeas ¥

b) TS VcAfafhesd Tafheas ¢ |

(
(
(©) T UAT=fHEH fafhas Tl € |
(d) = Teafafmas fafhas 7= § |

< :

Options :

(a) 3R (b)

91334582217,

(a) 3R (d)

2153394252315,

(b) 3T (d)

215394252519,

(b) 3R (¢)

2153942525320,

Sub-Section Number: 4
Sub-Section Id: 9139431106
Question Shuffling Allowed : Yes

Question Id : 91394320954 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (31 to 33)
Cestion Lakel CDITLI}I"EhEﬂSiOﬂ



Monday Tuesday Wednesday
Time Distance Time Distance Time Distance
Cab (Hours) (kms) (Hours) (kms) (Hours) (kms)
A 16 656 12 480 10 410
B 10 700 14 490 18 720
£ 11 770 13 650 16 640
D 12 744 15 825 14 840
E 14 826 14 728 12 840

The table given above gives the number of kilometers travelled and the number of hours
taken by five cabs A, B, C, D, and E. Data on three days is given - Monday, Tuesday and
Wednesday.

Use the above data to answer the questions given below.
Sub questions

Question Number : 31 Question Id : 91394320955 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The average speed of cab A for the three days taken together is approximately :
Options :

91394382321, 10 km/hr

sissasazsss 20 km/hr

30 km/hr

91334582323,

91394382324 40 km/hr

Question Number : 32 Question Id : 91394320956 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The difference between the average speed of cab C and cab E on Monday is :
Options :

11 kms/hr

91394382325,
91394382326, 21 kms/hr

o - 4
91394382327, 31 [\H‘lh/hl‘

41 kms/ hr

213394282328,

Question Number : 33 Question Id : 91394320957 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0
Which cab travelled the most in the three days taken together ?

Options :

91394380329, D

91334582230, C

913345382331, D

913345825332,

Question Id : 91394320954 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

E

Question Numbers : (31 to 33)
Juestion Label - Comprehension

HHAR TR ECEL
I EQl I Ll g Ll
Fd (R1H) | (R H) | (@&H) | (RHLd) | (R&H) | (FHL H)

A 16 656 12 480 10 410
B 10 700 14 490 18 720
C 11 770 13 650 16 640
D 12 744 15 825 14 840
E 14 826 14 728 12 840

ST difcie H I & fhamie 3K &4 A, B, C, D, 3R E g1 HHaR, Hear i g9aR &l 7
o 7T =21 1 e B
ST SAHEl 1 ITAM Fd gU A T T g & W e |

Sub questions

Question Number : 31 Question Id : 91394320955 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Fel feet & ‘A’ &1 i fedi &t S1gd Tfd amem g

Options :

10 TeherHTeX i e

2153394282321,

20 TeRaATHZT 9fd e
30 forardeT gfd =

B133458232%2.

2153942525325,



40 ToRerdTeT gfd =

91334582324,

Question Number : 32 Question Id : 91394320956 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
GHaR &1 e C 311 %« E & 23mq i o fohan siaw 872
Options :

91394350305, 11 TehaHIET Hid #d]

21 TohemTe fd e

B1334582326

31 fraTHTeT 9fd sel

B1334582327.

-~ — .

9130438050g 21 ICIHIEX Hid 9l

Question Number : 33 Question Id : 91394320957 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
A Tl H fohd ohal g0 Taiiiaeh g0 a9 &1 78 2

Options :

91334582329, B
91334582230, C

H91334552521.

913345823352, B

Sub-Section Number: 5
Sub-Section Id: 9139431107
Question Shuffling Allowed : Yes

Question Number : 34 Question Id : 91394320958 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following diagrams indicates the best relation between India, World and
New Delhi ?

Options :



91334582533, B

91334552354,

91334582535, O

—
© @)

21594252556, \— —-’/‘

Question Number : 34 Question Id : 91394320958 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Teatataa § 9 fog wafas ¥ ura, fava 3ir 72 fooodt & == wdiaq ddy i Fefua fwa g2

Options :

91334582333, —

913943523354,
) &
[:_‘\
915943823355, -/
913943523356, =

Question Number : 35 Question Id : 91394320959 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Nhic ] llowi ()L.coc £ h £ ationshi s Lc I_',c
Which of the following diagrams best represents the relationship between, family, family
member and domestic help ?



Options :

ik

KA
KA
w,

H1334582337.

913345822328, o

<
b

O
ps
oo

9139455253329, =

()
p—

O
O

91334582240,

Question Number : 35 Question Id : 91394320959 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Frefafad § 4 forg warfes § afEar, ofitsm $iR st At/ AT F o= 949 ®1 gaiad 9
Frefa o T 272

Options :
I:/- ?\ fﬁl
NSNS
91594382337,

2153942525358, =

913345823329,

91334552340,

Question Number : 36 Question Id : 91394320960 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which one of the following is not a Network Topology ?

Options :



1o
Q1=294252241. I{I‘HD

91394382342, Chain

21594252345, Bus

91394382344, Star

Question Number : 36 Question Id : 91394320960 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

fefafad § 9 #F-91 Jea+ giftafa (Srderst) T8 €2

fa

2153394252341,

913345822342, |
91334582343, K

91334582244, SR

Question Number : 37 Question Id : 91394320961 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Match the following :

List - I List - II
i)  Outlook
i) DOS

iii) Internet Explorer

Browser

—

cl

A

J - . -
b) Programming Language
)

—

Operating System
d) E-mail
he correct code is :

e W W

913345852245, (1) (ll'_[) (I_I'.) (IV)

S

iv) Fortran

e

stasisesse ) (V) (1) ()



913345822347, (I_l) (H_[) (IV) (l)

2153394252345, (IV) (I'.I_[) (LI'.) (1)

Question Number : 37 Question Id : 91394320961 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

TefefEd =1 faem =1 -

eI - 1 10
(a) SIESH (
(b)  HITHT AT (
(c) smgfen faeeq (ii
(d) =T (
LEETES

(@) (b) (c) (d)

Options :

91394382345, (i) (i) (i) (iv)
91394382346, (i) (v) () (1)

91394382347, (i) () (v) (1)

91334582248,

Question Number : 38 Question Id : 91394320962 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following denotes the Internet hardware requirements ?
(a) Hub
(b) Bridge
(c) Router
(d) Gateway
(e) Modem
Code :

Options :
(e) only
91394382349, ?

(a), (b) and (e)

91334582350,

(b), (¢), (d) and (e)

91334582351,

S (a), (b), (c), (d) and (e)

Question Number : 38 Question Id : 91394320962 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

frAfafEad § 9 ShiH-41 3231 Bedal ATEYIHdIs sl 290dl g 2

91334582549, (E‘)

(a), (b) 3R (e)

B1334582350.



(b), (c), (d) 3T (e)

912334582551,

91394382352, (a), (b), (), (d) 3 (e)

Question Number : 39 Question Id : 91394320963 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
A set of rules used in communications in a network is called :

Options :
s1aguserses Interface

2 e
91394382354 | rOtOCOl

91394382355, Address

siggugasses BOIeTENCe

Question Number : 39 Question Id : 91394320963 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

wﬁﬁ#%ﬂﬁwﬁwﬁﬂﬁr%waﬁwm%

91334582353, :
9133458525354, I” !l hlcd

913345582355, " ?‘
TR

91334582356,

Question Number : 40 Question Id : 91394320964 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of the following are pointing devices ?

(a) Trackball (b) Touchscreen
(c) Graphic Tablet (d) Joystick
Code :

Options :



91394382357, (a) only

(a) and (d)

91334582358,

(a), (b) and (d)

91334582359,

a1394332360. (&) (D) () and (d)

Question Number : 40 Question Id : 91394320964 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
frafafad ¥ ¥ -9 @i Sy g2

Fad (a)

91334582357,

(a) 3R (d)

91334582358,

(a), (b) 3T (d)

91334582559,

(a), (b), (¢) 3R (d)

H1334582360.

Question Number : 41 Question Id : 91394320965 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
A study was carried out on the drought resilience in India. Which of the following States

show highest level of handling drought ?
Options :

91394385361 Telangana, Andhra Pradesh, Tamil Nadu

a1394330362 Odisha, Karnataka, Kerala

91394350363 Sikkim, Punjab, Arunachal Pradesh



a1z043803e4 JDArkhand, Chhattisgarh, Jammu and Kashmir

Question Number : 41 Question Id : 91394320965 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

IR | g fefa T & 9§ usk s1egeA o ) fefaiad 9 9 fa w0 8 g g feed =@
Faffeeh TR SE TR ?

Options :
| AT, 39 Yeul, aHAS

2913394282361

am L8 =
91394382362 , nrlceen, hal

91394382363, Taferry, 4STTd, &M= Hawl

B91334582564

Question Number : 42 Question Id : 91394320966 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The most harmful types of environmental pnﬂutants are :
Options :

- 1’ r.- L Rl r.- I--| II-|
91394389365 Human organic wastes

T g g ) i ;
915394585366, Wastes from faecal matter

a13943g036> Non-biodegradable chemicals

91394380368, Natural nutrients present 1n excess

Question Number : 42 Question Id : 91394320966 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

qaifes Behreh THEuy Ygue ©
Options :
91394382365, HMG S 3TdY

2153394282366, SRl ST S



TR-SE3TIeog THEA

H1334582367.

TThides e i a1 ST

B1334582565.

Question Number : 43 Question Id : 91394320967 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Assertion (A) : Natural gas is a very attractive eco-friendly fuel.

Reason (R) : It produces few pollutants and less carbon dioxide per unit energy than
any other fossil fuel on combustion.

Code :

Options :

1394380360 DOth (A) and (R) are true and (R) is the correct explanation of (A).

o1304380a70 DO (A) and (R) are true and (R) is not the correct explanation of (A).

91394332371, (A) is true, but (R) is false.

o1394382372 (A) I8 false, but (R) is true.

Question Number : 43 Question Id : 91394320967 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Question Number : 44 Question Id : 91394320968 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



What percentage of energy coming from the Sun is re-radiated towards the space ?
Options :

1 O
91394380373 1O /0

25%
91394382374,

30 %
91394382375,

91394382376, QU0

Question Number : 44 Question Id : 91394320968 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A H 3T ol a1 Tohaa wiaera siafet # 4. fafwfia 2 22

Options :

B1334582373.

B13345825374.

™ [i-llr'
91394382375, - 0%

B91334582376.

Question Number : 45 Question Id : 91394320969 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
As per Central Forestry Commission (CFC), how many forest types are found in our

country ?
Options :

153394282377,

91334582378,

91334582379,

B1334552380. 16

Question Number : 45 Question Id : 91394320969 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

153394282377, 15

B1334582375.

B13345822379. 28

913345822380, 16

Question Number : 46 Question Id : 91394320970 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The number of open universities and directorates of distance education whose courses are
recognised by UGC as on August 9, 2018, is :

Options :

49

215942525381,

23
91394382382.

8

U1

H1334552383.

62
91334582354, i
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Match the following :

List - I List - II
(a) Open University (i)  Odisha State Open University, Odisha
(b)  Dual Mode University (if)  Amity University
(c) Mixed Mode University (iif) Indian Institute of Science, Bengaluru
(d) Deemed University (iv) University of Mumbai, Mumbai
(e) Specialised University (v)  School of Planning and Architecture, New Delhi

Q:Z::;BESBS. (ILI'.) (ll) (“-.-T) (1) (IV)

H1334552586. (1) (IV) (I.I'.) (LI.I'.) (V)
91334582387, (V) (l) (IV) (I_I'.) (I‘“‘)
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91394382386, (1) (iv) (i) (i) (V)
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Which private institutions in the following list have been granted the status of ‘Institutes of
Eminence’ by the MHRD ?

(1) BITS, Pilani

(ii) MAHE, Manipal

(iii) ~ Symbiosis, Pune

(iv)  Amity University, Noida

Choose the correct answer from the code given below :

Code :

Options :

(1) and (ii)
915943823549,

(1) and (iii)
91394382350,

(ii) and (iii)
91Z94282291.

(i) and (iv)
91394382352
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One of the first states to establish a higher education council was :

Options :

| Sikkim

913345823393

Goa
91394382394,

&= T ;
91394380395, Andhra Pradesh

1394350305 Jammu and Kashmir
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State higher education councils are established under the instruction of :
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91394382399, CABE
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